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o 7| =
TE B Hg F Hg
AL 2 A 11 0.15 4 0.15
T O S| A 14 0.19 5 0.19
HE XA 2 S| AHA EFRIXE 0 0.00 0 0.00
AR 22| 2| A 0 0.00 0 0.00
HAEH 26 0.35 10 0.35
7| EtH| &** 0 0.00 0 0.01
ChEojo] B2 13 0.17 5 0.18
A EESTETer=
=74 MH A Aag 3 0.04 1 0.03
S —
A 16 021 6 0.21
SHAHM 10 0.13 5 0.17
AL 2 A} 330 0.15 204 0.15
THOf S| A 824 0.38 509 0.38
HEXY A 2| AHA EF I RY) 8 0.00 5 0.00
UHEAR 22| 2| A 8 0.00 5 0.00
28t 1,170 0.54 723 0.54
7| EtH| &** 1 0.00 11 0.01
CHAOfO).E 442 387 0.18 247 0.18
il VY
S MH|A a2 85 0.04 41 0.03
SR —
SHA 472 0.22 288 0.21
B e 281 0.13 233 0.17
INNE=R=IN 55 0.15 77 0.15
THOf S| A 114 0.32 160 0.32
HE XA 2 S| AHA EFRIXE 1 0.00 2 0.00
UEFALR 22| 2| A 1 0.00 2 0.00
EES 172 047 241 047
7| EtH| &** 0 0.00 3 0.01
ChaOfOf. B 442 65 0.18 94 0.18
A VY=
=74 MHA Aag 14 0.04 15 0.03
S —
A 78 0.22 108 0.21
SHAAM 49 0.13 88 0.17
AL &AL 2 0.15 1 0.15
ZHOH 2| A 3 0.25 1 0.25
HEXY A 2| AHA EF I X}) 0 0.00 0 0.00
UHIALR 22| D AL 0 0.00 0 0.00
28t 4 041 2 041
7| EFH| & ** 0 0.00 0 0.01
- Cteojol. 57l & 2 0.18 1 0.18
= | ZNEERRE T :
SR —
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H E XY A 23| AH(A EFRIXL 0 0.00 0 0.00
LA 22| 3| A 0 0.00 0 0.00
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7| EFH| & ** 0 0.00 0 0.00
CtaOjO) S48 0 0.00 1 0.18
A TR
SN MH|A 2oz 0 0.00 0 0.03
S8
SHA| 0 0.00 1 0.21
SHAHAM 0 0.00 1 0.18
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Ege 7| =
- L) e L) bl
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QUHFAFR 2| 5| AF 1 0.00 0 0.00
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w 7| EtH| &** 0 0.00 1 0.01
Ch=0j0l. B0+ 2 24 0.17 17 0.18
gl VYT
=) 5 0.04 3 0.03
ang MH|A =58
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EE L 17 0.12 16 0.17
AL 2 A} 45 0.15 42 0.15
EHO 2| A 3 0.01 2 0.01
HET A 2T AHAEFRIRY) 1 0.00 1 0.00
UHEAR 22| 2| A 1 0.00 1 0.00
28t 50 0.17 47 0.17
F 7| EtH| &** 0 0.00 2 0.01
ChaOfof. S 442 53 0.18 51 0.18
S TR
=4 MH|A g 12 0.04 8 0.03
SR —
SHA| 65 0.22 59 0.21
B e 39 0.13 48 0.17
XAt AL 0 0.06 0 0.15
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Ce 7| EtH| &** 0 0.00 0 0.00
CtaOjOf S 442 0 0.08 0 0.19
U TV
=) 0 0.02 0 0.02
e MH|A =58
TTE —
A 0 0.10 0 0.21
SHAEA 0 0.05 0 0.16
AL &AL 76 0.15 69 0.15
ZHOy 2| A 4 0.01 3 0.01
HEXY A 2| AHA EF I X}) 2 0.00 2 0.00
UHIALR 22| D AL 2 0.00 2 0.00
28t 83 0.17 76 0.17
I 7| EHH| &** 0 0.00 3 0.01
oy ChaOjof.ES71$42 89 0.18 83 0.18
=4 EAEHUR S 19 0.04 13 0.03
anz MH[A =8
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KA 2 A} 0 0.11 0 0.15
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B =] 1.3823 0 1.5948 0.7637
a 7| 21323 0 2.2667 0.8099
=] 21323 0 2.2684 0.8143
o 7| 1.8822 0 1.9236 0.8555
=] 1.8823 0 1.9118 0.8503
7| 1.6221 0 1.7582 0.802
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